
 

 

  ���ر�� ا���
�ت ا���	�
�	�� ا����ا���
 �����1:  

  


�� أ��م ���� S  و��ن�	�� ، �����
�ت ��ق ا��� �M₁  وM₂  !�" وا"$ة ���ان ) ' ا&�%$
�� :M₁M₂=d  وM₁  ب ا�' ا������  . Sأ+
�51 ا���	�و��
�� �1$4 3 را&2 ا��010ب ، ��/". ا���-���ت ا������ 
:  

 .�� و&5 ا;
�9�ر  M"$د �$ة �8��9 ا���7%  -1

 . M₂و  τ  ��1M₁ا"?< ا��=4� ا�>��3  -2

3- 
9� �3 ا��Aاء 1?�)�) �� أن ا������ ����� � ا�

V=340 m.s⁻¹. 

 . M₂و  d  ��1M₁  ا"?< ا��?��� 

  
 �����2:  

  


-$ث )�$ ا�7�ف S  �(�?1 �9��� ، �D�E�?� �
�� ، � ��� ��F 8��G� H1���V . 3��7ل ا��%�
�ات ا;�J� 8 G&أ K	9ا� KL��u(cm)  ب H1�ا�� �� �G �cm  ��;$1
 �A���  .  x  �M-� $�(t₁=0,4sأ�

  �M- ا� $�(t=0   �Dا��� $�( �

$ �7 � ا�����x=0  . 

�)� ا;
�9�ر  Vا"?<  -1&. 

� ا���
� ) ' ��G ا���H1 ا"?< ا -2�N=� �A+�J�?� 3ة ا��$��. 

�ات ا&�7��� ��G �� ا���H1 ذات ا��=4� ا�>��3  -3�J� KL�τ= 0,6 s . 

 

 �����3:  

 

 �

�8 ا��%�7 ا��أ&P7?� 3 ا���ء 4/ل ا
�9�ر ���
 K	9ا� KL��.  
  . P7& ��t=0 ا���ء )�$ ا� -J�S  �M�در �%$�� ا���
� ا���7% 

 �M- ا� $�(t₁=4,5s  !�" 8 G&أ K	93 ا�� /L�� ء�ا�� P7& K	Q ن�	�M  �M- ا� $�( �
  . �t₁%$��  ا���

�اS1 ؟ -1 K ( �D�E�?� او ����T �
 هK ا���

2-  �
 .ا"?< &�)� ا
�9�ر ا���

3-  �

P7& �� �7% ا���ء )�$ ا
�9�ر ا��� �A�/4 ك� .�� ا��$ة ا��3 ��-

4-  �M- ا� $�( �
 .  �t₂=3s� ���D �%$�� ا���

5- $
�� ا��=4� ا�>���W�� 3ل �%$�� ا���
� ا�'  N  $E1 ' (12m  ��Mا���7%  ��
 ؟  Nا���7% 

  
  �����4:  

  

  5����V  ������1 K�-ل ا��T   �
�)� ا
�9�ر ��&T  ��4X0ا اA�) بN  ( ����7ا� � �	��و1μ  K�- �) بkg.m⁻¹ (   �+/Eو�] ا�:  

      V= ��
� .  

1- �� /�" ���E
�ا ، � �A� أن آ� �8 ) ���T 3� �% Eا�� �� Eا�� � �	وي وزن ا��8 �?
� ا�-�K اذا ) �_ أ��� ���+ ��m=235g؟ 

2-  8��T K�" � آ�L = 11m  3ه M = 176 g  .؟ K�- � ����7ا� � �	ا� �� 

3-  K�-ل ا��T �
 .ا"?< &�)� ا
�9�ر ا���


$ 1���E%1 K�-�ن � �
��ن  -4��A  وB  ���?ا�� ��A��1 K�G�d=8,2 cm   3��<ا� � ؟ 1A���?�� ل   B ل ��� ا��=4

5- J�� `آ�� �	ا�$ ا�<� $�( �(�� +��� ا�?� m    �� Eا�� � �	 �. 

6-  � �	 � �A���Dا >a� 3ا�� � �	ا� �� m؟ �
�)� ا
�9�ر ا���& `(����� 

 04=
 :g =9,8 N.kg⁻¹   
  

 �����5:  

 

 �M-� $�( [ 7�� ن�� K�" ' ( �9��� �A��9� ���E
t=0  �7%
  .(Ox)ا�0bت آ=KW ��-�ر  Oا��8��9 �� 
 �7%
�ات أر��ب �J� 8 G&أ K	9ا� KL��M  �A���  xM    !�"xM = 8 cmأ�

1-  �M-� أي $�(t₁  �7%ا��8��9 ا�' ا�� K��M . 

2-  K�-ل ا��T �
 .ا"?< &�)� ا
�9�ر ا���

�ق ��ور ا��8��9 1����7%  3-1 -3J�?� 2آM . 

  .�� �Tل ا��8��9  3-2
4-  �7%
 ���E
N  �A��� . xN = 32 cmأ�

  . Mو  Nا"?< ا��=4� ا�>��3 ��1 ا�����7%  4-1
4-2  �M-� أي $�(t₂ 'ا� �
�K ا����  N .  
�ات أر��ب  4-3�J� KL�N  ��<1$;�� ا�.  

5-  �M- ا� $�( K�-ا� �AM� KL�t₂  'ا��8��9 ا� �A�� K�  . Nأي ا� -�M ا��3 �
 

 

  Talamidi.com  تم تحميل هذا الملف من موقع




